So
o
0
+0.1
13.6—0
Recommended

Panel Cut Out

NOTE DESCRIPTION DATE
1 Add Dimension. Feb/12/2019
2 Correct Dimension & Note. | Mar/16/2020
20.5
7.9 A
3.0 5.9

B>

SC 31

REV. DESCRIPTION DATE NOTE
A | ISSUE Jun/20/2018
A1 | Add 13~17 PIN. Sep/27/2018
B | Change shape of Shielded Pin. | Nov/20/2018 2

14 - 14 PINS
15 - 15 PINS
16 - 16 PINS
17 - 17 PINS

SIBYL

ERIC

|0
— "
( :
0.25
M12*1.0 30 NOTES:
: 1. ELECTRICAL CHARACTERISTICS:
Hex Flange CURRENT RATING: 1.5A/ 2A / 4A
TEMPERATURE RANGE: -25°C TO +85°C
DIELECTRIC WITHSTANDING VOLTAGE:
18.0 30 500V AC FOR ONE MINUTE
: 2. PANEL THICKNESS MAX. 3.0mm
13.4 1.5
PG9 ® 3. HOW TO ORDER: A12x-S1xxHPR A
P @ 02-2PINS 08-8PINS
— = 03-3PINS 09-9PINS
o - ——— © © 04-4PINS 10-10 PINS
. = | 2 © o0 05-5PINS  11-11PINS
s - ©e® 06-6PINS 12-12PINS
/ ) A& 07-7PINS 13-13PINS
o
Flat Side @ Flat Side i PIN | D L |- CURRENT RATING 1.5A
® A12DI30.8 @ N - CURRENT RATING 2A
® A12Nl206 D - CURRENT RATING 4A
A121 [#0.6
®
7 | GLUE Epoxy. BLACK HOLIN HTP‘;'-S‘SI".D‘ TECH,LNO,EOGY CO',’\LT,D :
6 | SHIELD PIN B Nickel Plated 1 A A BB AR 9
rass, Nickel riated. mm M12 A-Coding Male Panel Connector
S GASKET EPDM. BLACK 1 Rear mount Hex Flange
4 | HEXNUT Brass, Nickel Plated. 1 1.5:1 With PCB Pin and Shielded Pin
3 | HOUSING Brass, Nickle Plated. 1
2 CONTACT Brass, 6 u" Gold Plated. Male Contact. N 2‘? 0125 A12x-S1xxHPR
1 CONNECTOR | M12 A-Coding Male Connector Insert. Nylon+GF. BLACK 1 -
No. | PART NAME DESCRIPTION COLOR|QTY |REMARKS| B 1/2 A12x-S1xxHPR




NOTE DESCRIPTION DATE REV. DESCRIPTION DATE NOTE

1 Add Dimension. Feb/12/2019 A ISSUE Jun/20/2018

2 Correct Dimension & Note. | Mar/16/2020 A1 | Add 13~17 PIN. Sep/27/2018

B | Change shape of Shielded Pin. | Nov/20/2018 2

A

A12D-S102HPR  A12D-S103HPR A12D—-S104HPR  A12D—S105HPR

O O O 0 O
@ @ (NO) @ O ©® ®© ©®®®©
(©) @ (©) @ (©) @ @ @
@ ® @ - ©® @ - ©® PNV ®a®d
©) ©) ® ®
A12N-M106HPR A12N-S107HPR A12N—-S108HPR A12|—S109HPR A12|-S110HPR A12I-S111HPR A121-S112HPR
122 — "1 1 122 — 1 1 122/x\1 11 122 — " 11 12.2— "1 1
3508 DX 10 358 DX 10 3 5% DX 10 /5% T &N 3 /5% T 10
13— [[e o @ ew 13— (/oo e ew 13— [Je o @ 0\\ 13— [fe e e eV\ 16 13— [Je e e ey\ 16
[[,a e [,a e [[, ° e [(,aeee]]
4\\o °/9 4\\," e/9 4\\,,“\/ 9 4\\0"%/9 4\\,”,//9
\Lf \\\U \\ \':_f// / \\\U// J \\ \U// / 1 7
6 7 14 6 7 14 6 715 14 6 715 14 6 715
A12[-M113HPR A12|1-S114HPR A12|-S115HPR A12|1-S116HPR A12|-S117HPR

PIN ASSIGNMENT FRONT VIEW
(RITIE)

HOLIN® TP ASIATECHNOLOGY CO., L.
A& FH BB HE R N F

M12 A-Coding Male Panel Connector
Rear mount Hex Flange

mm

21 With PCB Pin and Shielded Pin
SIBYL
0.5 0.25 A12x-S1xxHPR
0.1 1 ERIC

B 2/2 A12x-S1xxHPR




+0.1 REV. DESCRIPTION DATE
13.5-0 17.5 A | ISSUE Jan/12/2016
S 7.9 B | Change Shielded Pin Design. Oct/19/2018
H 5.95
M sc 2:1
mn — ITe) Te]
s I @) 0 %/
Recommended I =)
Panel Cut Out ﬁ 4::33 i —
[ — E—
® ﬂ 3.0 S
il 0.25
3.0 0.25 || 3.0
18.0 3.0
13.4 PG9 1.5 @
M12x1.0 A
ko m - NOTES:
x M ©6° 1. ELECTRICAL CHARACTERISTICS:
o o o o CURRENT RATING: 4A
N ® TEMPERATURE RANGE: -25°C TO +85°C
] @ DIELECTRIC WITHSTANDING VOLTAGE:
500V AC FOR ONE MINUTE
©) Hex Flande 2. PANEL THICKNESS MAX. : 3mm
@ 6 9 3. HOW TO ORDER: D12D-S1xxHPR
. 03-3PIN
$1.2 $1.2 $1.2 04-4PIN
(Fo.r Shield Pin) (Fo.r Shield Pin) (Fo.r Shield Pin) 05-5PIN
o o o
® @ ® @ ® 1 [N A R A N O e
® 0|/ oY 0 (5} 0 g O
@ @ Q@ @ Q@ @ o | d o | d o |d
?5.0 $1.0 5.0 $1.0 ?5.0 ®1.0
D12D;_S1AO3H_PR D12tD;S1?A\'/"_'PR %ﬁ;; O5HPR | D12D-S103HPR D12D—S104HPR D12D—S105HPR
in Assignment Front View (HifuE PCB LAYOUT
® HTP ASIA TECHNOLOGY CO., LTD.
7 | GLUE Epoxy. HOLlN ;F i %‘l‘ ﬁi A% ,1/\ ;ﬁ- PR I\ g]
6 |SHIELD PIN | BRASS, Nickel Plated 1 28 X1 2
J . mm M12 D-Coding Male Panel Connector
S | GASKET EPDM. BLACK 1 Rear Mount Hex Flange
4 |HEX NUT BRASS, Nickel Plated. 1 1.5:1 PCB & Shielded Pin
3 |HOUSING BRASS, Nickel Plated. 1 SIBYL
2 | CONTACT BRASS, 6 u" Gold Plated. Male Contact. N us 0zs D12D-S1xxHPR ERIC
1 | CONNECTOR [ M12 D-Coding Male Connector Insert. Nylon+GF. BLACK 1 :
No. | PART NAME DESCRIPTION COLOR |QTY |REMARKS| B 1/1 D12D-S1xxHPR




75 20 REV. DESCRIPTION DATE
13,541 ' : A |ISSUE Dec/04/2015
7.9 - B | Change Shielded Pin Design. Oct/19/2018
$15.0:% B : SC 21 o B1 | PCB Layout modification. Feb/26/2019
M As 8
o~ ol
Recommended H% —
Panel Cut Out )
— )
X:ZL \:{ 3.0 —
® - 0.25 0.25 3.0
18.0
13.4 3.0
: M12x1.0 1.5 ®
f'._-\ =
0] © O
& M ° o
o o ) Q
o © O
N
L ©Q
S 0 NOTES:
©) @ 1. ELECTRICAL CHARACTERISTICS:
CURRENT RATING: 0.5A
TEMPERATURE RANGE: -25°C TO +85°C
a2 @ ©® Hex Flange DIELECTRIC WITHSTANDING VOLTAGE:
or=nieiding 8 500V AC FOR ONE MINUTE
T 2. PANEL THICKNESS MAX. 3.0mm
2,8
©
fg]
Pin Assignment
. . 00
Front View ) >8] %
(BT ED PCB LAYOUT -
= TGLUE Epoxy. BLACK] HOL'N HTP‘QSI{A TECHrLNOkOGY CO./,\LTIE).
6 |SHIELD PIN B Nickel Plated 1 O S M N
AT @. — mm M12 X-Coding Male Panel Connector
5 | GASKET EPDM. BLACK| 1 Rear mount Hex Flange
4 | HEXNUT Brass, Nickel Plated. 1 1.5:1 PCB & Shielded Pin
3 | HOUSING Brass, Nickle Plated. 1 SIBYL
2 | CONTACT Brass, 6 u" Gold Plated. Male Contact. 8 g‘:’ o2 X12I-5108HPR ERIC
1 CONNECTOR [ M12 X-Coding Male Connector Insert. Nylon+GF. BLACK 1 :
No. | PART NAME DESCRIPTION COLOR|QTY |REMARKS| B 1/1 X12I-S108HPR




	A12x-S1xxHPR(B)(NOTE2) Model (1)
	D12D-S1xxHPR(B)
	X12I-S108HPR(B1)

